B R R ORI galk apatoks

It is Mo to offer any leaven on the [hava. While any amount is
7oN and makes the ya9p it isbeing 2»pn with 5109, thereis
only mpon if thereisammo.

If aovlbav touches part of a serving of food that is mmn,
whose garlic and oil are yomn, the whole dish isxnv. if thedish
is p9in, but the il isnman, and the orbav touches part of the
dish, only the part that he touched is xnv.

If there are two containers, one contai ning something
permissible and one containing something forbidden, and there
are two pieces of food, one permissible and one forbidden, and
the two pieces of food fell into both boxes, but we do not know
which box which piece fell into, the contents of the permissible
box are still a7, and the contents of the forbidden box are still

Mon. Thisistrue when the forbidden items are yay1limoox, but
if they are xox1doon, then they would be mox. Thus, if
there isdoubt if yon fel into n¥n on Nos it iIsTor asthat isan
NN Thon. However, if it is mmyon, which most moow say is
today an yav7lhoox (it is anmbnn between the o"any and the
7"ax7, the 0"am holding it is only a yaatthyn today) it would be
I to edt.

In order for a v to be 2»n he must ingest a mo of the morlhar,
and amnlhaT isnot 99vsn. Therefore, if he dips his bread into
wine, he must eat a n»> of wine.



A spoiled flavor given over by afood that is mvox does not make
a’vs not v (oaovlbyvlinm ismmn).



